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3SB01 : Linux Socket Programming
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3SB02 : Introduction to Java 3D
1. Explain in words what the following code does. Also, include a diagram of what is drawn by

floatingFoo() in the 3D scene. (5 marks; 5 minutes)

private void floatingFoo()
{

// code for creating a blue appearance

Transform3D t3d = new Transform3D();
t3d.set( new Vector3f(0, 1.5f, 0));
TransformGroup tg = new TransformGroup(t3d);
tg.addChild( new Cylinder(2.0f, 3.0f, blueApp) );
sceneBG.addChild(tg);

2. Describe the three main kinds of transformation in Java 3D. Explain in words, with the help of

modifications to the code in question 1. Use diagrams to help your explanation.

Please answer in English. (5 marks; 5 minutes)



3SB03: Web Content Management System (CMS)
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3SB04 : Parallel Programming with Open MP

1. From the OpenMP Lab, give at least three factors that affect the speed of applications? (2.5 marks)

3. From Section 2 in the OpenMp Lab, what does the reduction clause used in the below #prama omp

parallel for do? (2.5 marks)

#pragma omp parallel for reduction(+:result)
for (i=0; i<NUMBER; i++)
result+=(sin(data[i])-cos(datal[i]))/(sin(data[i])+cos(data[i]));

4. From Section 3 in the OpenMp Lab, explain why the speed of running the parallel program is not faster
than the speed of the serial program although we have already used sections to distribute tasks to threads.

(2.5 marks)



